Quiz 3a.

Name:
Recitation Instructor:

The following quiz will begin 5 minutes into the start of recitation and will last 30 minutes. Good luck.

1) What is the product of the following reaction, making sure to show appropriate stereochemistry, and show an
appropriate mechanism. (10 points)

Nal

o (Cl S
Acetone

2a. Show the reaction intermediates that result from the following electron arrows. Make sure to show all
components (5 points)

(o B
O = O~

2b. One of these above is really bad. Which one and why? (5 points)



Quiz 3b.

Name:
Recitation Instructor:

The following quiz will begin 5 minutes into the start of recitation and will last 30 minutes. Good luck.

1) What is the product of the following reaction, making sure to show appropriate stereochemistry,
appropriate mechanism. (10 points)

and show an
Br
-BUOK
THF
(b) Br NaN,
——
THF
2a. Show reaction intermediates/products that result from the following electron arrows. Make sure to show all
components of the reaction (5 points)
EtO" O
M 'S

2b. One of these above is really bad. Which one and why? (5 points)



Quiz 3c.

Name:
Recitation Instructor:

The following quiz will begin 5 minutes into the start of recitation and will last 30 minutes. Good luck.

1) What is the product of the following reaction, making sure to show appropriate stereochemistry, and show an
appropriate mechanism. (10 points)

NaCN
Gl i-av s o
Acetone

2. Using structures and mechanisms based one what you know

about E2 reactions, explain the following differences
in product formation of different diastereoisomers under identical conditions. (10 points)
Br

Br
NaOMe ‘\‘\\ NaOMe o
= O
THF

—
THF



Quiz 3d.

Name:
Recitation Instructor:

The following quiz will begin 5 minutes into the start of recitation and will last 30 minutes. Good luck.

1) What is the product of the following reaction, makin

g sure to show appropriate stereochemistry, and show an
appropriate mechanism. (10 points)

Br
NaOMe
(a) Me T Mg ———n
H Ph
(b) MeOH
OlF oo
SN1

2. The following envokes a double SN2 re
because it has a ‘built in’ nucleophile in th
points)

action which provides retention of stereochemistry, and it works this way
e form of the amine. Show a mechanism for this overall process. (10

N
NMe Br NaCN nve
O\/k

THF



Quiz 3e.

Name:
Recitation Instructor:

The following quiz will begin 5 minutes into the start of recitation and will last 30 minutes. Good luck.

1) What is the product of the following reaction, making sure to show appropriate stereochemistry, and show an
appropriate mechanism. (10 points)

o} Me  NanH,
(a) l\ ; <

& B o
NaN
(b) YLBr _ NaNg
THF

2. The following is an SN1 reaction that involves a bond reorganization, and generates the carbocation shown.
Show a mechanism for the overall process (10 points)

Br Me

MeOH O/ Me
B - o

OMe



